


Sr.No.

mansons

OEM

DESCRIPTION

1 MVT58 V1590076 Rebound Sleeve

2 MVT56 V8059664 Rubber Spacer

3 MVT6 V8057237 Top Plate

4 MVT4 1629553 Rubber Load Spring

5 TMR62 V8071851 Fixed Torque Arm/Rod

6 MVT10 V1509219 Washer RH 130x176.5x6.5mm
7 MVT12 V1586520 Sealing Ring

8 MVT18 V1590064 Washer LH 130x176.5x6.5mm
9 MVT16 V1620443 Trunnion Bushing

10 MVT31 V3198095 Trunnion

11 MVT20 V951082 Circlip

12 MVT42 1620742 Gasket Cover Bogie Suspension
13 MVT46 V1502292 Trunnion Cap

14 MVT48 V159050 Trunnion Cap Rings

15 MVT4B Bolt For MVT4




1602780

| oems | appucaTON |

Spring Hanger
Inner Cooler Turbo

MVv028

RO04AJZ

Spring Hanger
Inner Cooler Turbo

30/38x173mm (M36x3 Threads)
M5394
0339 4657-7 " Threaded Spring

Pin

Hanger

M5396

164 230-0

30/38x169mm (M36x3 Threads-3Holes On Head)

Threaded Spring

Pin




0310 948-5 Voivo Threaded
Spring Pin

—

25x112mm (M45x3P Threaded)

MTB181

Spring Bush Outer
Thread

1608 019-4

38x44x86mm

0192 670-8

'Spring Eye Bronze
Bush

25x152mm (M45x3P Threaded)

1608 018-6 Threaded Spring

Pin

55x105mm (M45x3P Threaded

MTB187

1598 721-7 Spring Bush Inner

Thread

240x30x73mm

Spring Eye Bronze
Bush

0192 669-0




MVV4

1591 299-1 Spring Support

Spacer

25x160/M24 SW 36

—

M5397
1598 766-2 Spring Bolt

25x160/M24

M5393

1598 765-7 Spring Bolt

Spring Support
Spacer

1501 677-7

25x221/M24 SW 36

M5395

1598 765-4 Spring Bolt

ARBO0031
1598 8588 End Bush




ARB0030

1075255-0

Centre Bush For
'‘A' Arm

MTB172

V1504550/1504550-3

Thread Bush

900.201

1135 080-8

_

52x91x74/85

Axle Rod Bush

M5403

363910-1/1609960-8

Threaded Spring
Pin-Rear Spring

MV032

1598824-9
F7,FL7,F10,FL10,
F12,F16

Rear Spring
Hanger

900.200

0192 669-0

Machined Spring
Bush




50x6mm

i

Volvo Air Bag

Piston 720

*

TRB8643

|

Stabilizer Bush

Top Plate : 210 x 135mm
Bottom Plate : 200 x 150mm
Total Height : 150mm

Hole Center-Top Plate: 180-1x, 170-2x
Hole Center-Bottom Plate: 180/116mm

Hole Diameters : 16mm

“

0348 979-6

|

Volvo Rear Susp.

Load Spring

i

Top Plate




900.199

King Pin Repair
Kit

276193




